A\ 6‘]— ( 3_|_2)2 A (5 )
T 3. @4 fla) = COS UM g
Vit
sl £ (0) o gre? [2.1 A]
1. lim (tanz)® o zte? g | P10
z—07" @ 12
@ 8
D 0 @ 4
1
@5
® 1
@ 2
2. 4% fha>19 4 [ (@) = —— = | 4 /1x2\/1—x2 dr 9] Zre? [4.1 H]
- 0
f'3)=2v2e wEANt. e (2,4]9Q
o fo] aajmo] Zoj? [2.1 A] @ =
2
@D 4 ® s
@ 6 4
® 8 ® g
@ 9
T
2T




2 2 2 2t 3
. - 2 = =
5. w=z"+y +2z7, z=e", cost, | . y ()7} yQ%ﬂL%:%, (1) =29 3
= sintQ W, £ = Sqojy Lo gre? 1 v
[2'1 ;g]] ?—:-]_ [[H’ y(?)(—)‘] ?1}:%? (EL‘].', 113'>0) [38 755”
37, V3
@D 4e® + 5 D 461/3
57 V3 @ 43"
®@ 4e° — 5 @ 371/3
8 1/3
37 1 @ 35
@ 4e° + 5
.
4 R
@ 4de 5
6. It (—2,2)00A f(m):[[;p?)_?)x]] 8-0§‘9§%°a] o, E|L‘E|"}“_7“Z8Sin3(§) o]
o] 24 He 7&e? (H, 7l [ 1+
2] TR 2 8FA Zol=? [4.1 A&]
g +T) [3.8 A]
D 10 @
@ 11 @ m=3
@ 12 @ nm+3




1 11 1
. 2 -1 1 12,
3 11 3
Az=b9 H2AFNE v 8 29 B
T BEY #F2? [4.1 H]
@ —2
@ 1
@ 3
@ 5
10. cha:"’% z=39 0 $dFstw z= -5

o o uwALSICE oS <H7[>0] B2 F 2¥
[3.8 A

3t 20

AN
T YT =7

7“‘!“1_-

<H7|>

3
Il
o

D 1
@ 2
@ 3
@ 4

Q

w
\) H~

t

o

ISH
rlr
o
i

B

3
5

€

35

3-2 4
A= =2 6 2 & Hudize}
4 2 3

(orthogonally diagonalize)3tct.
atbt+ctd+eQ e? (&, a, c= F)

e}

[5.6 %)
® -5
@ -5t
@ 5+
@5



12. S7F 2WH =

1— =y B
¢

2=00] oJsto] SR AL Eo]

AL o,

//F dS 9 r2?

@ 8w
@ 9«
® 107
@ 127

13. f(zx, y)—tan e

[

— 2023 + ——

)+2024a:e

FAL X
" 8 drdy Q] 21

® © 0 e

e R R RN
DO
=]
[\
N

F(z,y,z) =2kol 3

ol opsh

[4.1 ]

14. 429z YHL 2= 27 R? oA a2
-FHE HES o]&3ld J|AHH
, uy, = <0,1,1),

v, =<1,1,1), v,= —%,a,b>,

1
v3:<—5,c d>i HEFS o,

3a+2b+2c+d*9 #H2? [4.3 H]

® © 0
O | W

15. o8 WA o +9y=2sin3z 9 3f7}
: o =
y'(0)=22 wuzxg o,

[4.3 A]



—2<y <29 ZAZP|A

[4.3 A]

@ 80
@ g2 1y] T Fo] U

17. o3 <B7]>9 34 F »™sts 349 A
7 [5.6 &1

n=1¢e
- 1
1_‘.
n=2 (h’ln)lnn
s 1
l:-
= (lnn)lnlrm
N nlnn
=,
n; (n+1)°
D1
®@ 2
® 3
@ 4

Inb

@ £lr15



=
[

— = =
o & T P
= £ Ol
o & = =
| .Ql l_l
~ 0 S
il ! .
r — =
B yMﬁlo
or _u__nn_n__._A-o_b
VR
MmO o up xam_u.oz
105__0__ﬁ Tl F n_A
) — TN om
2 N I
= o 1 s KD
] ~r © o B 2 = o~
= T SEG oo B S
o _AT _ _ v 2x TR o__._ SO — O ™
— 00 N 00
~ N
—i - p—
oam & !
\|\J
o o . T 0
A &~ - N MJM —
—_— . —
A ST o
) < 00 < | 3
Voo - \ N — :
o | — s " S b
.UI.A_I AN~ ™M <t NN — &)
N _ © 0 -
_—~ A - mo o | fo
WQ. ~ T\J/{\/(l\
g M oo - S _
v R’ v - ’ ~ — o <
&~ SN B o
ﬂum 2345,[\(7\ 8
_l:_O /[\T - ~ |
w_l - e ) a (] o~
ul = T L To T S = = 2 Z
a.mu S T | = < e k| ﬂ “l.
e 73
Hmm._H o — &N ™ —~ ?_L _ _ ™
. . . o
;< r ] U CESRERS S ©e 0 ©® @
o Q




23. AX y=4z9 ZH y=s'02 Exl
12129 9o Jodg AM y =4z o3l g
RAA A7 AA=Fo| Huj=?

@ 28
105 v/ 17

© 2%
105 /17

@ 210+
105 v/ 17

ol

@ 105 /17

24. zy¥H R’ 99
D= {(z,y) ||zl +lyl<1}to] A&l (z,y)
ot D Aojo] AE  f(x,y)2t At

// e /v g4 0] Zreq [5.6 Al
]R2

D 2v2 +1+n
@ 2V2 +2+n
@ 4v2 +1+27
@ 42 +2+27

25. & (0,4, 4)olHe] =A
r(t) =Inti + (> +3t)j+ 4Vt ko] 712
el BA 4RI WA deel g
[3.8 A]
54 V129
30/30
54 V153
30/30
74+ V115
e
7+ /131
S





